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TR (111021701) 37 # > (Pirimiphos-methyl) 25 % w/w 100-200
B =% (111NO221) 5 £ +>(Malathion) 35% w/w 400

# = (20200805) # 7= $»(Fenitrothion) 25% w/w 120-240 &
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G 400 200 100 50 e 400 200 100 50 25

BEE % 95412 10040 1000 100+0 100+0 9748  100£0 100£0 100+0 100+0
L% 88+16 10020 100£0 100+£0 100£0 ~ 90£13 1000 10020 100+0 1000

AR 1000 1000 100£0 100+0 100+0 1000 1000 100£0 100+0 1000

3 T 98+3 1000 1000 100+0 100+0 1000 1000 100£0 100+0 1000

M F 100£0 100+0 100+0 1000 100+0 100£0 1000 1000 1000 100+0
3% 72445 1000 1000 100+0 100+0 77£36 100£0 1000 100+0 100+0
T %  78+38 100£0 100+0 100+0 100+0 83+£29 100+0 100+0 100+0 100+0
KB T 78+33 1000 1000 100+0 100x0 9743 1000 1000 100+0 100+0
=4G % 82432 100+£0 100£0 1000 100+0 83+29 100+0 100+0 100+0 100+0
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HEEF 400 200 100 50 % 400 200 100 50 25

RIS 6 10020 100£0 100+0 100+£0 100+0 1000 100£0 100£0 100+0 100+0
L w 1000 100£0 100£0 100+0 100+0 1000 100£0 100£0 100+0 100+0

Pa 1000 1000 100£0 100+0 100+0 1000 1000 100£0 100+0 1000

3 T 1000 1000 100£0 100+£0 10040 1000 1000 100£0 100+0 1000

* F 100£0 100+0 1000 100+£0 100+0 100£0 1000 1000 1000 100+0
e W 1000 1000 100£0 100+0 1000 1000 1000 100£0 100+0 1000
T %  100+0 100+£0 100£0 100+0 100+0 100£0 1000 1000 1000 100+0
KB T 1000 1000 100£0 100+0 100+0 1000 1000 100£0 100+0 1000
=4 %  100£0 100+£0 100£0 100+0 100+0 100£0 1000 1000 1000 100+0
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AFEB S 1600 800 400 200 100 1600 800 400 200 100

BEE A 10020 100+£0 1000 100+0 100+0 100£0 100+£0 100£0 100+0 100+0
L% 878 1000 100£0 100+0 100+0 90+9 100+0 100£0 100+0 100+0
LA 95£5 1000 1000 100+0 100+0 95+5 100+0 1000 100+0 100+0
F T 98+3 100+0 1000 100+0 100+0 98+3 100+0 1000 100+0 100+0

* % 976 1000 1000 100+0 100+0 98+3 100+0 100+0 100+0 100+0
e W% 70£31  97+6 1000 100+0 100+0 77£25 - 98+3 1000 100+0 100+0
T % 1000 1000 100£0 100+0 100+0 1000 1000 100£0 100+0 10040
RE T 9743 1000 1000 1000 100+0 98+3  100+0 100+0 1000 100+0
=4 W 80+£26 966 100+0 1000 100+0 90+13  98+3 100+0 100+0 10040
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#FHEF 1600 800 400 200 100 1600 800 400 200 100

BEE 6 85£12  98+3  100£0 100+0 100+0 9942  99+2 1000 1000 100+0
L% 976  97+6 1000 100+0 100+0 1000 100+0 100£0 100+0 100+0
LA 80+10 97£3 100+0 100+0 100+0 95+0 100+0 1000 100+0 10040
# T 876 1000 100£0 100+0 100+0 95+5 100+0 1000 100+0 10040

* % 98+3 1000 1000 100+0 100+0 1000 1000 100£0 100+0 100+0
e W% 78+3  93+12 100+£0 100+£0 100+0 98+3 98+3 1000 100+0 100+0
Z T % 68+12 92+14 100£0 100+0 100+0 863 955 100£0 100+0 10040
NE W 78+21 1000 100£0 100+£0 100+0 98+3 100+0 1000 100+0 100+0
=4 W 786  98+3  100+0 100+0 100+0 95£5 100+0 1000 100+0 100+0
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HFEET 480 240 120 60 30 480 240 120 60 30

BEE A 10020 100£0 1000 100+0 100+0 100£0 100+£0 100£0 100+0 100+0
L% 1000 1000 1000 100+0 100+0 1000 1000 100£0 100+0 10040
LA 1000 1000 1000 100+0 100+0 1000 1000 100£0 100+0 10040
F T 1000 1000 1000 100+0 100+0 1000 1000 100£0 100+0 10040

* % 1000 100+0 100+0 100£0 100+0 1000 1000 100£0 100+0 10040
e W% 98+3 1000 100+0 100+0 100+0 100£0 1000 100£0 100+0 10040
Z T % 976 1000 1000 100+0 100+0 1000 1000 100£0 100+0 10040
AE % 100£0 100£0 100+0 100+0 10040 1000 100+0 100+0 100+0 100+0
=46 % 1000 100+0 100+0 100+0 100+0 1000 100+0 100+0 100+0 100+0
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HESF 480 240 120 60 30 480 240 120 60 30

BEE A 10020 100£0 1000 100+0  100+0 100£0 100+£0 100£0 100+0 100=+0
L% 1000 100+0 1000 100+0 100+0 1000 1000 100£0 100+0 100+0
LA 1000 1000 100+0 100+0 100+0 1000 1000 100£0 100+0 10040
# T 1000 1000 1000 100+0 100+0 1000 1000 100£0 100+0 10040

* % 1000 1000 100+0 100+£0 100+0 1000 1000 100+0 100+0 100+0
‘3% 1000 1000 100+0 ~100£0 100+0 1000 1000 100£0 100+0 10040
& T 1000 100+0 100+0 100£0 100+0 1000 1000 100+0 100+0 10040
AE % 100£0 100£0 100+0 100+0 10040 1000 100+0 100+0 100+0 100+0
=40 ¥ 1000 100+0 100+0 100£0 100+0 1000 1000 100+0 100+0 100+0
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